Python Programming with micro:bit Breadboard Setup & Testing: Practice

Name: Class: Date:

1. Pick two sockets in the same row-of-five on one of the terminal strips. Circle them and label
them ‘SR5’ in the drawing.
a. Should they be connected? Yes No
b. Test for continuity: Connected Not connected
2. On one of the terminal strips, pick two sockets in the same row-of-ten, but on opposite sides of
the valley in the middle of one of the terminal strips. Label the sockets ‘OSV’.
a. Should they be connected? Yes No
b. Test for continuity. Connected Not connected
3. Repeat the previous setup, but with different rows, and this time, plug in a jumper wire to
connect the two rows. Label the sockets JOSV'.

a. Should they be connected? Yes No
b. Test for continuity. Connected Not connected
4. In one of the bus strips, circle a socket in the (+) column and one in the (-) column, and label
them PM.
a. Should they be connected? Yes No
b. Test for continuity. Connected Not connected

5. Circle a socket in the (-) column of one bus strip, and another in another bus strip’s (-) column.
Then, connect the two columns with a jumper wire. Label them NDCC.
a. Should they be connected? Yes No
b. Test for continuity. Connected Not connected
(blank workspace)
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Python Programming with micro:bit

Breadboard Setup & Testing: Practice

Name: Class: Date:
Answers:
1. a)VYes b) Connected
2. a)No b) Not connected
3. a)VYes b) Connected
4. a)No b) Not connected
5. a)Yes b) Connected
(answer image )
e e R e o
1 1
oBl|l:coooo| |ooooo:||gg||l:ooooo a8
aln 3pD0O0Oo0oo0o ooooos 0o 300000 00
00 400000 aoooops 00 40000 00
oollcE00o00 Oooooos(lgg|ctE.oo 00
600000 oOoOooos e0O0O0O0d
TO00Oao ooooaor To0oOooag
oo|lsooooo| |ocoooos||ga||socoooo o0
11000
¥ oooaa gg
= Ve mjululn 00
- ? e ooog
-l oooao
=53] P @ miujulm s
—_— == O Pis|@|mmEmn| 00
— J; P14|@| MmN a0 00
__ U:CI-_.') F"‘--SI.I D 7 DD 1?D DD
—— = @ s P12 @ EiuIn]n O 18] O
—_ O<Tg " @uiuiuis}igs] i 00000 00
- .-ctb-- oooa ooodpao o0 O OO0 00
— EQE S 100 goooo2l s |pr2oood 00
— N 000 | | 000002(|55|kO0000 0o
-l CO00| |(000o0o03||gglkooooo SiE)
—sehilla 000 | |ooooox 00000
- o oaa O0000%/| oo lpB8000od 00
= b= ooog Ooooos |5 P ] O
— R oooag oogoooe "
g oOoOoaO ao00oooes ﬁ
——y = oooa ao0oOoooas
- = OoOoOoao OoOogoonOse 212 ==
bcde fahij|T —| abcde + —
Page 2

PARALLA






